

FM-QP-DILG-AS-RO-10-15

06.15..21

### Republic of the Philippines Department of the Interior and Local Government Regional Office V

## REGIONAL OFFICE BIDS AND AWARDS COMMITTEE **NOTICE OF AWARD**

March 21, 2023

The Manager JAE-RIX CONSTRUCTION AND SUPPLY COMPANY Ligao City

#### Dear Sir/Madam:

We are pleased to inform you that your quotation for the Purchase of Hardware Supplies for the Improvement of Main Building 2nd Floor Comfort Room with the contract price equivalent to One Hundred Twelve Thousand Nine Hundred Eighty-Nine Pesos Only (112,989.00) is hereby accepted.

Please acknowledge receipt and acceptance of this Notice by signing all copies. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very truly yours,

Jeles Club ATTY. ÁRNALDO E. ESCOBER JR, CESO V Regional Director

CONFORME:

By:

Joer O. DE CHAVEZ (Signature over Printed Name)

Date: March 29, 2023



# Republic of the Philippines DEPARTMENT OF THE INTERIOR AND LOCAL GOVERNMENT Regional Office V Legazpi City

BAC RESOLUTION DECLARING JAE-RIX CONSTRUCTION AND SUPPLY COMPANY AS THE BIDDER WITH THE SINGLE LOWEST CALCULATED AND RESPONSIVE BID (SLCRB) FOR THE CONTRACT: PURCHASE OF HARDWARE SUPPLIES FOR THE IMPROVEMENT OF MAIN BUILDING 2ND FLOOR COMFORT ROOM SLCRB-RFQ NO. GDS-2023-091

WHEREAS, the Department of the Interior and Local Government Regional Office No. 5 requested quotation/s for the Purchase of Hardware Supplies for the Improvement of Main Building 2nd Floor Comfort Room with an Approved Budget for the Contract (ABC): One Hundred Twenty Thousand Sixty-Four Pesos and Seventy-Five Pesos (120,064.75)

**WHEREAS**, the BAC resorted to **Small Value Procurement (53.9)** as an alternative mode of procurement posted in PhilGEPs and in the Project Bulletin Board for the period from March 16, 2023 to March 20, 2023.

WHEREAS, the committee waived the formalities of competitive bidding procedures, the evaluation shall be per lot basis.

WHEREAS, the BAC Secretariat presented Four 4() quotations from bidders/suppliers as follows:

BIDDER	BID AMOUNT	REMARKS	
JAE-RIX CONSTRUCTION AND SUPPLY COMPANY	Php 112,989.00	SLCRB	
LEGAZPI GRACEHOME BUILDERS SUPPLY	DQ: NO DTI	DQ: NO DTI	
SHERWIN MARKETING	DQ: NO ELIGIBILITY DOCUMENT SUBMITTED	DQ: NO ELIGIBILITY DOCUMENT SUBMITTED	
YM LUMBER & GENERAL MERCHANDISE	DQ: NO ELIGIBILITY DOCUMENT SUBMITTED	DQ: NO ELIGIBILITY DOCUMENT SUBMITTED	

WHEREAS, upon examination, validation and verification of all the eligibility, technical and financial requirements submitted by JAE-RIX CONSTRUCTION AND SUPPLY COMPANY its bid was found to be responsive;

WHEREAS, the BAC declared and recommended JAE-RIX CONSTRUCTION AND SUPPLY COMPANY as the Single Lowest Calculated and Responsive Bidder.

**NOW**, **THEREFORE**, We, the members of the Bids and Awards Committee, hereby RESOLVE, as it is hereby RESOLVED

To recommend for the approval and awarding of JAE-RIX CONSTRUCTION AND SUPPLY COMPANY as the bidder with the Single lowest calculated and responsive bid for the contract PURCHASE OF HARDWARE SUPPLIES FOR THE IMPROVEMENT OF MAIN BUILDING 2ND FLOOR COMFORT ROOM with the amount of One Hundred Twelve Thousand Nine Hundred Eighty-Nine Pesos Only (112,989.00).

RESOLVED, at the DILG RO V Conference Room this 20th day of March 2023.

MA. GRACE JOY U. TANGON	ATTY. MAGDALENA A. BORBE-MALLARI	LUNINGNING Z. BRAZII
Provisional Member	Regular Member	Provisional Member
MA. RUTHEL P. GIGANTOCA BAC Vice - Chairperson	MAEG. CLEMENTE Regular Member	AMALINE R. COLINA Regular Member

BAC Chairperson

Approved

ATTY. ARNALDO E. ESCOBER, JR. CESO V

Regional Director



FM-QP-DILG-AS-RO-10-15 06.15..21 1 of 1

### Republic of the Philippines Department of the Interior and Local Government Regional Office V

### REGIONAL OFFICE BIDS AND AWARDS COMMITTEE NOTICE TO PROCEED

March 21, 2023

The Manager JAE-RIX CONSTRUCTION AND SUPPLY COMPANY Ligao City

### Dear Sir/Madam:

The attached Notice of Award for the Purchase of Hardware Supplies for the Improvement of Main Building 2nd Floor Comfort Room has been approved; notice is hereby given to you to proceed on your delivery with the abovementioned, 7 calendar days upon receipt of PO and upon receipt of this Notice.

Please acknowledge receipt and acceptance of this Notice by signing all copies on the space provided below. Retain one copy and return the other to the BAC Secretariat Office, DILG Regional Office V, Rizal Street Legazpi City.

Very truly yours,

ATTY. ARNALDO E. ESCOBER, JR. CESO V

Regional Director

CONFORME:

By:

JOEL D. DE CHAVEZ (Signature over Printed Name)

Jul de Chave

Date: March 19, 1023



### Republic of the Philippines

partment of the Interior and Local Government

Regional Office No. V, Rizal Street, Legazpi City

#### **PURCHASE ORDER**

Supplier: JAE-RIX CONSTRUCTION AND SUPPLY COMPANY

Address: Ligao City

TIN: 610-385-572-00000 P.O. No.

Date:

Mode of Procurement: Small Value

Procurement (53.9)

Gentlemen:

Please furnish this Office the following articles subject to the terms and conditions contained herein:

### Purchase of Hardware Supplies for the Improvement of Main Building 2nd Floor Comfort Room

Place of Delivery:

DILG Regional Office V

Delivery Term: 7 Calendar Days Upon Receipt of PO

Date of Delivery:

Payment Term :

			aymen rem	r dyment reini.			
Stock/ Property No.	Unit	Description	Quantity	Unit Cost	Amount		
1	рс	2x3 Coco Lumber	6	180.00	1,080.00		
2	рс	Glazed Tiles (0.3x0.6)	293	105.00	30,765.00		
3	рс	Glazed Tiles (0.2x1.0)	63	173.00	10,899.00		
4	pc	Glazed Tile (0.6x0.6)	6	195.00	1,170.00		
5	рс	Unglazed tiles(0.6X0.6)	45	179.00	8,055.00		
6	gal	Matte Acrylic paint	1	695	695.00		
7	box	Black ceiling screw	2	495	990.00		
8	roll	Hardie Joint Perforated Tape	1	350	350.00		
9	рс	Stainless Steel High Faucet	2	1,700.00	3,400.00		
10	рс	Surface Type Lavatory	2	2,250.00	4,500.00		
11	set	Wall Mounted Urinal w/ fittings	3	5400	16,200.00		
12	рс	U channel	7	245.00	1,715.00		
13	рс	Stainless Steel Hook	3	125.00	375.00		
14	рс	Stainless Steel Hinge	6	675.00	4,050.00		
15	рс	Aluminum Corner Seam	1	375.00	375.00		
16	рс	Aluminum Door Edge cover	9	99.00	891.00		
17	рс	Stainless Steel Footing	9	485.00	4,365.00		
18	рс	Stainless Steel Door Handle w/ lock indicator	3	1,450.00	4,350.00		
19	рс	Two Ear Partition Brackets	26	260.00	6,760.00		
20	рс	Aluminum Corner Fastener	8	110.00	880.00		
21	рс	Door Bumper	3	158.00	474.00		
22	рс	Wall Hunged Mirror	3	950.00	2,850.00		
23	рс	1/2" dia. Stainless Steel P trap	2	695.00	1,390.00		
24	рс	Pinlight hhousing 4 w/ 10 watts LED bulb	6	785.00	4,710.00		
25	m	LED striplights (warm white )	5	340	1,700.00		
***One Hundred Twelve Thousand Nine Hundred Eighty-Nine Pesos Only***					112,989.00		

In case of failure to make full delivery within time specified above, a penalty of one-tenth (1/10) of one percent for every day of delay shall be imposed.

Conforme:

Very truly yours,

JOHL O. DE CHAVEZ Signature over Printed Name of Supplier

> March 29, 2023 Date

ATTY. ARNALDO E. ESCOBER JR CESO V

REGIONAL DIRECTOR

funds

Fund Cluster: 01 Funds Available :

COREE MODESSA F. BADONG ACCOUNTANT III

ORS/BURS No. :

Date of the ORS/BURS: Amount:

Regular